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A-Blank

solved by Zars19
code:HDU6578
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B-Operation

solved by infinity37
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#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <algorithm>
using namespace std
const int N le6+5
const int M = 33
int pre[N/[M
int sel[N| M
int n
int lastans 0
void append(int x
X = x“lastans
n
int cur n
int i = 31;i>=0;1
preinl|i pren-1][1
selin||1i sel[n-1][1

https://wiki.cvbbacm.com/ Printed on 2025/07/14 11:38



2025/07/14 11:38 3/15 2019 Multi-University Training Contest 1

int i i i
X i
prein|li
prein/ i X
sel/n]i cur
break

cur sel/n|i
swap(preln/[i], X
swap(sel[n]|[i cur

X preinl|i

void getans(int 1,int r

1 1" lastans)%n
r r~lastans)%n
1>r) swap(l,r
int ans
int i i i
selir][i 1

ans max(ans,ans prel(r||[i

printf("%sd\n",6 ans
lastans ans

int main

int cas,pn,m,opt x,y
scanf("%sd", &cas

cas
n
lastans
scanf ("%sd%sd" ,&pn, &m
int i i pn;i
scanf ("%sd", &x
append ( x

//lastans = 0;

int i i<=m;1i
scanf ("S%sd%sd" , &opt, &x
opt
scanf("sd", &y
getans(x,y
append ( x
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D-Vacation

solved by Zars19
D-Vacation
code:HDU6581
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E-Path

solved by _wzx27
http://acm.hdu.edu.cn/showproblem.php?pid=6582
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O $w+dis[ul==dis[vl$0 0 00 0000000000000 OO0

$\text{HDU5889}$0 000000000000 OO0 ODOO$long\; long$D O O $\text{WA}$O O O O

#include<bits/stdc++.h>

#define 11 long long

#define int long long

#define pii pair<int,int>

#define mp_ make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl

using namespace std;

const 11 INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 2e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);
int n,m,tot,tot2,head maxn|,head2 maxn|,cur|[maxn],layer|[maxn|,dis maxn];
struct edge

int u,v,w,nxt;
es | maxn<<l],es2[maxn<<l];
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void add2(int u,int v,int w,int he

el ++t = u;
eltl.v = v;
eltl.w = w;
el[t].nxt = helul;
helul = t;

void add(int u,int v,int w,int he

e ++t/.u = u;
elt].v = v;
eltl.w = w;
el[t].nxt = helul;
helul = t;

void dijkstra

priority queue<pii > q;

rep(i,1,n) dis[i] = INF;
dis = 0;
g.push(mp (0, C

Iq.empty
pii now = qg.top
int u = now.se;

»q.pop

,edge el |,int &t

,edge el |,int &t

.
’

int i=head2|u];~i;i=es2[i].nxt

int v=es2/i].v,w=es2|1i

dis[vi>dis|ul+w
dis|v

= dis|ul+w;

W

g.push(mp (-dis(v],v));

bool bfs

memset (layer,
queue<int>q;
g.push ;
layer = 1;
q.size

int u = q.front
int i=head|u];i!=-

,sizeof(layer

»q.pop

;i=es[i].nxt

int v = es[il.v,w = il.w;
w>0 && !layer|v
layer|v! = layer|ul+1;
g.push(v);
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layerin|>0;
11 dfs(int u,1l flow

u== flow;
int& i=curful;il=-1;i=es[1i].nxt

int v=es[i].v,w=es[i].w;
w>0 && layer|v|==layer|ul+

int d = dfs(v,min(flow,w));

d>
es/il.w -=d;
es[i”™l].w += d;
d;
11 Dinic
11 ans = 0;

bfs

memcpy (cur,head,sizeof(cur));
11 d=dfs(1,INF)) ans+=d;

ans;
signed main

fastiol();
int ;
cin>> ; ; --
memset (head, -1,sizeof(head) ) ;
memset (head2,-1,sizeof(head2));
tot = -1, tot2 = -1;
cin>>n>>m;
m__
int u,v,w;
cin>>u>>v>>w;
add2(u,v,w,head2,es2,tot2);

dijkstra();
rep(i,0,tot2
int u=es2[i].u,v=es2[i].v,w=es2[i].w;
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dis[ul+w==dis|v
add(u,v,w,head,es,tot);add(v,u,0,head,es, tot);

cout<<Dinic()<<endl;

0;

F-Typewriter

00O by infinity37
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#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <algorithm>
using namespace std
const int N = 2e5+10
typedef long long 11
struct SAM
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int len|N falN son|[N
int size, last
void init

size last

memset(son sizeof (son

void insert(char c

int s c-'a'
int p = last,np size
memset (son|np sizeof(son[np
last = np
len/np lenp
p son/plls p falp
soniplls np
p falnp
int q son|pl's
lenip len(q falnp q
int nq size

leninqg lenip
memcpy (son|nql,son[ql,sizeof(sonlq
falng falq
falq falnp ng
son|plis qg; p = falp
son/plls nq

int get next(int s,char ch,int &lens
int id = ch-'a’

son/s|[id
lens
son[s][id
S son|s|[id S fals
S
S
lens

lens lenls
S son/s][id

int getlen(int s,char ch,int &lens
int id = ch-'a'
son[s|[id
lens
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S son/s|[id S fals
S
S
lens

lens len|s
S son|s][id

lens
sam
11 fIN
char s|[N
int main
scanf("%s",s EOF
sam.init
int p,q
scanf ("%d%sd",&p, &q
int len = strlen(s
int j
int next
int mlen
int i i len;i
fli fli p
sam.getlen(next,s[i], mlen j i
fli min(fli],6f[j q
next = sam.get next(next,s[i|,mlen
sam.getlen(next,s! i, mlen j i
sam.insert(s/]j
j =]
next = sam.get next(next,s[i|,mlen
] i
fli min(fiil, f[j q
printf("sLld\n",6 f[len
I-String
00 by wzx27

http://acm.hdu.edu.cn/showproblem.php?pid=6586
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#include<bits/stdc++.h>

#define 11 long long

#define pii pair<int,int>

#define mp_ make pair

#define pb push back

#define fi first

#define se second

#define rep(i,a,b) for(int i=(a);i<=(b);i++)

#define showl(a) cout<<#a<<" = "<<a<<endl

#define show2(a,b) cout<<#a<<" = "<<a<<"; "<<#b<<" = "<<b<<endl
using namespace std;

const LU INF = 1LL<<60;

const int inf = 1<<30;

const int maxn = 3e5+5;

inline void fastio ios::sync with stdio(false);cin.tie(0);cout.tie(0);

char s[maxn],ans|[maxn];

int bk[maxn][26],K,loc[26],L[26],R[26],ps;
vector<int> when|[26];

bool check(int a,int pos

R[a]<=0 0;
int tot = 0;
rep(i, 0,25
il=a && bk|pos+1]|/il<L[1i 0,
tot += L[i];

Llal>0) tot--;
tot+ps+1=>K 0;
1L

int main

fastiol();
cin>>s+1
ps = 0;
memset (bk,0,sizeof (bk));
memset (loc,0,sizeof(loc));
cin>>K;
int len = strlen(s+1);
int i=len;i>=1;i--
memcpy (bk[i],bk[i+1],sizeof(bk[i ;
bkiil[s[il-"'a']|++;

rep(i,0,25) when[i].clear();
rep(i,1,len) when/slil-'a'l.pb(i);
rep(i,0,25) cin>>L[1i]>>R[1i];
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int pos = 0;
int flag = 0;
ps<K
flag = 0;
rep(i, 0,25
loc/il<when[i].size( )& &when[i][loc|i]|<=pos) loc|i|++;

rep(i, 0,25
when[i].size()== ;
int now = when[i][loclil];
check (i, now
flag = 1;
pos = now;
ans|[ps! = i+'a’';
loc[i]++;
Rlil=max(0,R[i]-1);
Liil=max(0,L[i]-1);
ans|ps++| = 'a'+i;
//cout<<ps-1<<": "<<('a'+i)<<endl;

.
’

Iflag cout<<-l<<endl; ;

ans ps/='\0";
flag) cout<<ans<<endl;

0;

M-Code

solved by Zars19
M-Code

code:

#include<iostream>
#include<cstdio>
#include<cstring>
#include<cstdlib>
#include<cmath>
#include<algorithm>
#define LL long long
#define INF Ox3f3f3f3f
#define eps le-10
using namespace std;
const int N=105;
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int read

int x=0,f=1;char c=getchar();
c<'0'|]c>'9’
c>="'0"'&&c<="9"
x*f;

X=x*
int dcmp(double x
struct Point

double x,y;
Point (double x=0,double y=

Point operator + (Point a
Point operator - (Point a
Point operator * (double a
bool operator == (Point a

d1[N|,d2[N]l,p;

int topl,top2;

typedef Point Vector;

double sqr(double x X*X;

double Cross(Vector v1,Vector v2
double Dot (Vector vl,Vector v2
double dissqr(Point pl,Point p2
bool cmp(Point pl, Point p2

int u=dcmp(Cross(pl-p,p2-p));

X<-eps?-

X

c=='-"')f=-1;c=getchar();
+c-'0";c=getchar();

: (x>eps) ;

X

Y YLy
Point(x+a.x,y+a.y);

Point(x-a.x,y-a.y);
Point(a*x,a*y);
dcmp(x-a.x &&dcmp(y-a.y)==0;

vl.x*v2.y-v1l.y*v2.x;
v1l.x*v2.x+vl.y*v2.y;
sqr(pl.x-p2.x)+sqr(pl.y-p2.y);

u=0| | (u==0&&dcmp (dissqr(pl,p)-dissqr(p2,p))<0);

int Graham(Point *d,int n

int k=0;
int i=0;i<n;i++

int u=dcmp(d/i].x-d[k].x
int v=dcmp(d/i].y-d/kl.y
v<O| | (v==0&&u<0) ) k=1;
p=d/k!;
sort(d,d+n,cmp);
n=unique(d,d+n)-d;
n<= n;
dcmp(Cross(d/n-1]-d ,d
din++=d ;
int m=1;

int i=2;i<n;i++

m>0&&dcmp (Cross(d|[m|-d|m-

dl++m|=d[i];

m;
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bool SegInter(Point pl,Point p2,Point p3,Point p4

max(pl.x,p2.x)<min(p3.x,p4.x ;
max (p3.x,p4.x)<min(pl.x,p2.X ;
max(pl.y,p2.y)<min(p3.y,p4d.y ;
max(p3.y,p4.y)<min(pl.y,p2.y

int u=dcmp(Cross(p2-pl,p3-pl))*dcmp(Cross(p2-pl,p4-pl));
int v=dcmp(Cross(p4-p3,pl-p3))*dcmp(Cross(p4-p3,p2-p3));
u<=0&&v<=0;

double TriS(Point pl,Point p2,Point p3 fabs(Cross(p2-pl,p3-pl)/2);
bool InTri(Point pl,Point p2,Point p3,Point pO

double
s1=TriS(pl,p2,p0),s2=TriS(pl,p3,pd),s3=TriS(p2,p3,p6),s=TriS(pl,p2,p3);
dcmp(s-sl-s2-s3)==0;

int main

int T=read();
T--

topl=top2=0;
int n=read();
int i=1;i<=n;i++

int xl=read(),x2=read(),y=read();
y<0)dl[topl++|=Point(x1,x2);
d2[top2++/=Point(x1,x2);

topl=Graham(dl, topl);
top2=Graham(d2, top2);
bool f=1;
int i=0;i<topl&&f; i++
int j=0;j<top2&&f; j++
SegInter(dl[i|,dl| (i+1)%topl|,d2[j!,d2](j+1)%top2 =0;
int i=0;i<topl&&f;i++
int j=1;j<top2-1&&f; j++
InTri(d2 ,d2[j1,d2[j+1],d1[i]))f=0;
f)puts("Successful!");
puts(“"Infinite loop!");

D000D0000DO000O0$(\boldsymbol{x_i},y i)$00 O $\boldsymbol{x_i}$0 00 $d$0 00 0 O
O
0 $d=2$$f(\boldsymbol{x})=sign(\sum~d_{i=1}w_i-x_i+b)=sign(\boldsymbol{w~T}-\boldsymbol{x}+b)$[]
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